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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture --—--—-meeeeemv with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that -—--ceeeeeeeees
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to —-----—-- - that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer -------se-e-—=- an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The --—-—ereeeeee -- of the editor’s comments made us think that he hadn’t really read
the manuscript.

l) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ----—-----—-——- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

I) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely -——-—-----n--- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —=-----eeemeeem- in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet -----eeeeeeeeeee to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ==-=-smeeeemaeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ==-semememeaeean incidence of conditions that become
increasingly common in old age. (13) ---=--eeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-=--===enmn-
that the maximum life span (the oldest attainable age). (15) --=-=--=--n=---- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- I)no 2) nor 3) neither 4) not

| PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Although the body can use some variations of carbon compounds such as fatty acids
and ketones as energy, carbohydrates play an important role in this way. First of all,
maintaining a regular intake of carbohydrates will prevent protein from being used as
an energy source. Gluconeogenesis will slow down and amino acids will be freed for
the biosyntheses of enzymes, antibodies, receptors and other important proteins.
Furthermore, an adequate amount of carbohydrates will prevent the degradation of
skeletal muscle and other tissues such as the heart. liver, and kidneys. Most
importantly, ketosis will be prevented. Although the brain will adapt to using ketones
as a fuel. it preferentially uses carbohydrates and requires a minimum level of glucose
circulating in the blood in order to function properly. Before the adaptation process
occurs, lower blood glucose levels may cause headaches in some individuals.

Although the processes of protein degradation and ketosis can create problems of
their own during prolonged fasting, they are adaptive mechanisms during glucose
shortages. In summary, the first priority of metabolism during a prolonged fast is to
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provide enough glucose for the brain and other organs that are dependent upon it for
energy in order to spare proteins for other cellular functions. The next priority of the
body is to shift the use of fuel from glucose to fatty acids and ketone bodies. From
then on, ketones become more and more important as a source of fuel while fatty acids
and glucose become less important.

The term “Gluconeogenesis™ in the first paragraph refers to -- —
1) consumption of carbohydrates 2) production of new glucose
3) intake of new carbohydrates 4) break down of glucose

Which statement related to carbohydrates as a source of energy is not true?

1) Amino acids would be used for production of other proteins.

2) Proteins would be analyzed to free amino acids.

3) They cause inhibition of utilizing proteins for energy production.

4) New synthesis of glucose decreases.

Amino acids are responsible for the biosyntheses of all the following items EXCEPT

1) fatty acids 2) antibodies 3) enzymes 4) receptors
Consumption of carbohydrates will benefit all of the following organ systems EXCEPT

1) urinary system 2) C.N.S

3) muscular system 4) respiratory system

The priorities of the body during a prolonged starvation are --—----eee--,

1) providing ketone bodies and then fatty acids for the digestive system

2) providing glucose and then ketone bodies for the digestive system

3) providing fatty acids for the brain and then shifting to ketone bodies

4) providing glucose for the brain and then shifting to ketone bodies and fatty acids
PASSAGE 2:

Fish oil is a commonly used fatty acid supplement because it is a source of omega-3
fatty acids. Fatty acids are strings of carbon atoms, having a range of lengths. If links
are all single (C-C), then the fatty acid is called saturated: with one double bond
(C=C), it is called monounsaturated: if there are two or more double bonds (C=C=C).
it is called polyunsaturated. Only two fatty acids, both polyunsaturated. are considered
essential to be obtained from the diet. as the others are synthesized in the body. The
essential fatty acids are alpha-linolenic acid (ALA). an omega-3 fatty acid. and linoleic
acid (LA), an omega-6 fatty acid. Plant oils, particularly seed and nut oils, contain
alpha-linolenic acid. Dietary supplement sources include fish oil, krill oil and marine
algae extracts. The class of nutrient compounds includes vitamins, minerals, fiber,
fatty acids and amino acids.

Minerals are the exogenous chemical elements indispensable for life. Four
minerals: carbon, hydrogen, oxygen, and nitrogen, are essential for life but are so
ubiquitous in food and drink that these are not considered nutrients and there are no
recommended intakes for these as minerals. The need for nitrogen is addressed by
requirements set for protein. which is composed of nitrogen-containing amino acids.
Sulfur is essential, but for humans, not identified as having a recommended intake per
se. Instead, recommended intakes are identified for the sulfur-containing amino acids
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methionine and cysteine. There are dietary supplements which provide sulfur, such as
taurine and methy! sulfonylmethane.

All of the following fatty acids should be obtained from the diet, EXCEPT --eeeceeeaeeee,

1) linoleic acid 2) monounsaturated

3) polyunsaturated 4) alpha-linolenic acid

By consumption of plant oils, which fatty acid could be provided?

1) Alpha-linolenic acid 2) Monosaturated acids

3) Linoleic acid 4) Omega-6 fatty acid

According to the text, which of the following compounds are basically essential to life?
1) Collagen 2) Polyphenols

3) Minerals 4) Plant pigments

Which statement about minerals is consistent with the text?

1) Minerals are rarely found in food and drink.

2) They are chemical elements produced in the body.

3) Minerals should be received from outside the body.

4) They are regarded as nutrients to be recommended for intake.

Human requirements for sulfur could not be provided by --—----—aeex- 5
1) pure sulfur 2) methionine

3) taurine 4) cysteine

PASSAGE 3:

Animal toxins from chemistry aspect, extends from enzymes and neurotoxic and
cardiotoxic peptides and proteins to many small molecules such as biogenic amines.
alkaloids. glycosides and terpenes. Drug toxicity is affected by all of factors that affect
the toxicity of other xenobiotics. including individual (genetic) variation. diet, age, and
the presence of other exogenous chemicals. Even when the risk of toxic side effects
from a particular drug has been evaluated, it must be weighed against the expected
benefits. The use of a very dangerous drug with only a narrow tolerance between the
therapeutic and toxic doses may still be justified if it is the sole treatment for an
otherwise lethal malady. Although the study of the therapeutic properties of chemicals
falls within the province of pharmacology, essentially all therapeutic drugs can be
toxic, at some dose.

The danger of producing deleterious effects to the individual depends on several
factors, including the nature of the toxic response, the dose necessary to produce the
toxic response, and the relationship between the therapeutic dose and the toxic dose.
Some species from practically all phyla of animals produce toxins for either offensive
or defensive purposes. Some are passively venomous, often following inadvertent
ingestion, whereas others are actively venomous, injecting poisons through adapted
stings or mouth parts. It may be more appropriate to refer to the latter group only as
venomous and to refer to the former simply as poisonous.
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According to the text, the principal target organs for proteins of animal toxins are

1) arteries and veins

2) bronchial tract

3) peripheral and central nervous system

4) heart and central nervous system

Which statement related to usage of a drug with toxic side effects is true?
1) It should be applied with caution.

2) It is not allowed and should be omitted.

3) It could be used only for fatal disease.

4) Its toxic components should be eliminated first.

All of the following factors determine the harmful effects of toxins EXCEPT ----eeeeeeeeee,
1) quality of the toxic response

2) the nature of manufacturing components

3) applying toxic dosages

4) therapeutic and toxic dose correlation

Inactive poisoning by venoms may occur through which system?

1) Alimentary canal 2) Respiratory tract

3) Urinary system 4) Vascular system
According to paragraph 2, the word poisonous can be appropriately used to refer to
1) passively venomous species

2) actively venomous species

3) species injecting poisons through stings

4) species not affected by venom

a“

sl 1S Jg yiunddS i J 5535 30 w3l ot it T

Acyl CoA Synthetase (¥ Thiolase ()

HMG-CoA Synthase (f HMG-CoA Reductase (7
098 o0 @i 3L plas jl 85 Y'Y

ity (F sl (¥ oaleS (Y Josl ol (A
Ol IS a9 ySnoghod 30 09290 ol (g g —YY

APOE (f APOBq, (v APOB, (v APOC, (
sz i) Lol ,Khee —T'F

ez s 4 Jlail (Y P ataal glaval 4 Jlasl ()

b lang S 4 ! (F Lo patia 4y Jlas! (¥
fogd o0 JUad Slgo plas aule p (oal s (Il glows yo -T

NERLI win byt (sl 5L O

Wy 5L Lo ga (F Lo 5L Ly g (T

forum.konkur.in



www.konkur.in

YV axie 926A (1044) oS . Sl condigm
V- P Wl el @ i i o b polis TP
Va4 Yo jl SYL(Y Y4 YY) s ()
Va Yo jl as(F VYO SYL (Y
T3 o0 ) 0% el plaS goand' Sl )0 pludd) s700 4d)le TV
Al Sdlgzd (F Al SZally (¥ S| Siguagp (¥ Sl al ()
63 505 o0 g0 (Jobor Saluil plaS 50 (gLl Elgil j gLl puf G2 gladan! Jliwgs YA
oD gl 4l (F S yS goaa (Y SH5 ol (Y s ()
RIOWN YR SSRCET | PO 1) ¢ || I JFCPX i PO JETRPIRRON -t FL SPeRs AL PR PRSI
Wl Hho a0 5l S s I (F Wl Ol a0 5l e (F
O | sl i 09,5 | @l plas )
AST (f ALT (v ACP (v CPk 0
! S 57 15 591 alaanly (390 g (ool Sl )10 505508 AT G130 el gilin o Slsiis! Glatle o - FY
oe¥T (F Al SV (Y oelyE (Y Sl 550 ()
Yogd oo L ) I 359 @ b pla 3l i uigine h.f_.ai U PTRL N Ly ¢4...3.n‘ Sow! pundulls )0 -FY
Sl lglS s _ Wi (Y Sleatgdl;$ ()
A 3155 - JoinS g (F o (¥
ol 22 plaS 3| 3l Uras 39 0 )50 DNA ;989 55U g1y a5 5,67 ole —FF
SSE(F Y AY S ol 3595 ()
............... Cots 49 9 00905 JLid ) coverrrrrrnn S D yge0ds 395 PI adaii 51 SYU PH o aopligy <j)ede iUl jo -F2
..\Ju.o C.f)’
Nl el (F Nl - gl (T Ll = euls (Y Nl yesls ()
25 S P IS gl 50 jli Wl S i @ T Lyl (NO) Wl S il S i JuSl 0 - FF
?é)'.ﬁ \—J)ﬁ:l
sy (F O, (v NADH (v ATP (
€013 (539300 A ool g IS HMrsasS g yord Ly (el 93 (o0 5T Jawgi (31 A (s 9 4 (omalig0 Joud po - FY
B, (el (F D el (¥ C falig (7 Sl SS9l ()
0j000Y b ply pediilion coli 3 8087 Jolao SRS Sl b oo 3T O iyl o | yimgus 3| LS a5 —FA
WVea sV (F Wee oo ¥ (¥ Wee s /Y (¥ Wae e o/ YO ()
P90 g0 b (53055 y2ne 39 w51 IS DNA (g5lo aiiled 51y Sigs s sloJobew 55 —FA

s DNA W1 (F Jyeas DNA L (¥ Jreas DNA s (Y ieds DNA LE (A

forum.konkur.in



www.konkur.in

A axivo 926A (184 ) 05 = Sl gomdigw

T g0 JET 3390 A1uS & panadS” JLaill lSwl abiae LA

Cigansp (F i (¥ gy (F oS0
€090 g0 Sl i demlgiaal A1AS (g ManaS 91 550 U (39 58 005 funi S i

eeligls (F s (V7 sl S5l (Y o3yl O
S g0 Jomi |y Sy pIaS S g sl

iy (F 2 (Y Seeed (¥ iy ()

il 1S w1 ;50L Aoy 4 00 Sl | poamnddS ot Jole

51598 (F il (¥ Ty S ()
Tz ol (saign il Jolw 7)1 (0 il

ol (F olal (1 o=ST (Y oSy et ()
Fo9ud g0 eolaiunl (g9l yo slavaw! @ Jlail 5l y Jgono jsbds S yiplas j

OmmeclS (F g5 slS (T g (¥ e el (1
€090 Slggpm & b WS i S 43999 51 Jud Lenal dal 1 09,8 plas (0,8 clsiul
el e (F oVlo e (7 i oo (F 2330 ey ()
€03 o0 Sl gl Ol sleasl S pIaS @ el el JUSIH L ooy S50 50

sl g Ll (F SIS (¥ Sy (F Shlest (1
§ A (5l S5 Ol T T SG g 5 9590 5l Soplas

C s (F E ol (7 g, (Y K Gmalus O
ol 39230 (55b R0) plas AL IRNA JosUso ¥ gloail 5o

ACC-v' (¥ AAC-Y (v CCA-Y (v CAA-Y
S 50 lee 1) 2 3 1S (3 s

$UseneSTged (F D jldsans (v e (¢ 5 TglSs (1

095 PK 910, Y 1 (iil> 050 (el 09,8 PK g YA () JouS 9255 098 PK L Lys aielunanl y0 51
! play QI Pl .aibL Al o‘ & ! sﬁ‘i
Yo, Y (f 3, VF (7 0,08 (¥ RS

ol ¥ ply pH Jolxe plas jo

\ HA
— pbs — iy Ka=1x1072 (4
‘(}l'l A_

Voo J’L—JH_‘? i 3 Ka=\><\l‘-_A (Y

A
\ :
Vo 65‘—~A‘H—/_\ sy Ka=1x1e™ (v
16 gyl T sy Ka=wx1e™ (8

Tl plaS  IMP s glSe 33 3e290 JT 5L
Ol S s (F U\l Ol S geen Juta (¥ OelF e ()

forum.konkur.in

_Ao

-0

-oy

-0y

-of

-84

-oF

-&Y

~-0A

-84

—;‘

$Y

sy



www.konkur.in

q axio 926A (1044 ) oS = Sl soniow
o9 o0 dlgi Suplal €33 () il (59,7 Al 90 Wigw S 1)10 3 40,5 VP 52 el oS (gamliansT Ly 51 —FF
Yo)iuF(f  AAcetyl —coA (v YNADH.H™ (v YFADH, ¢
69 305 (00 518 s 4 Conad (Fgliio 09,5 3 0,90 plaS —FO
el p o595 (F Oigleasdly (¥ OebeagSail (¥ 3 j9=l5 (A
SO T ORI [ oo LT F -y | B— e piolasy sl -FF
Jssfssy (F Jps oI5 (7 Sl SIgS (Y Jeal et (1
139 g0 Juol> Jg pomalS (g yidens Slan « JoSho plaS JolS' judgyuan ) —FY
O 323,85 (Y Orelaw ()
Jojeal haslans (f Sk ounsS Jlad ;o351 (Y
ol &5 (gl 30 el s Djgod g hlike gusia ol 0 99 ) JShie S il T FA
o9 anles o 3Tyl aiar (1)1 5L (il )5 iy LT Citlidho 0 yami§ 99 S 5 SV e
v (f Y (Y Y (Y F Q)
S g0 o b 5510l DNA 51y 50 5508 slapy 5l Suplas -#4
Ca (f n (¥ Mn (v Mg ()
€310 s el golie maldl )0 (gl i o 3l plas’ V-
5l o )8 (Y 58,0 5 155 ! (0
i Gy e (F S0 ,SToS el (¥
plad o j
3,10 gk oud (532 40l 5 po duwg 33 5)lke A g p el VY
Caspased (f CytC (v BCLy (v Bim (\
fais (o0 <5 > 4y jl Yol (gilwasilon jo JeSigo plas VY
DNA primase (¥ Jlses ()
;L (F DNA polymerase I1I (v
o] el Jlail plas b 2uSTy g 3lge JWE! gl VY
Desmosome (Y Hemi Desmosome ()
Gap Junction (¥ Tight Junction (v
€00 1) (515100 p40 S U 30 0 a0l puati A (S plas” - VF
D (f B (v A (¥ E
09 g0 Sl pais plaS (e Ughs w7 pleis bl 3 -VO
ey (F w2y (¥ 2 (V 3555 ()
Sl Ko of ojlail i 5l wgpgplas -VF
DOX\VF (¥ SLs S ogps ()
A g st (f Ty g8 (¥

forum.konkur.in



www.konkur.in

Ve axao

926A

(18+4 ) oS = Fdls ondigm

O Gl ur—‘)le;‘ (Y
g 3 @il oS 9 (F

3,140 0929 s Jokuw plus 5o
Lyl ()

lyjeien (¥

ol B3 30 ol AL WSS plas
Omileg S92 ()

Oy (gamdin! (¥

fand oo plail Oliudgiwl S g)omd g0 @ |y Olawd uwFg) jou5g8 baw .M,pi plas

S 5g 8 ghnd (Y
jLasSsi%a (F

Pay (f RB (v

Sodsls oS slaay ;o S 2SI L seg (¥
b slad I gadsls LS S (F

Jud e (F Jlas (¥
Lol gaalS” (F b sgd! (T
ol Lt (F Slaligls (V
pyo5e (F pyogS (Y

Vel (

;¥ (Y

ol 3951 o plos

BRCA (v MYC ¢\

Tl gadight (plgs l uSyplas
oaiiSoaiS |y Jama jo gudelS O3 CS > pas ()
Sbals D)3 oS mhaw 3g2g (T

ol JUE £9i 4z A (999515 JUIS

SLAAS >y ()

falind Wi gy jl s plas 952 a5
b ki oSS (Y b jgee ()
o9 c0 SLET JgSdge plas 51 Lbyones yuy yaiw
Othle! (F oedan (O

il g sla g adyi' Jorumo Y plas

p ol (¥ p 095 lade i ()

Cagd oo dl gl Cudglin plus (Oliwlgl ¥ & VL b ad plion ;o TCA &3 2 5o

FADHY (f CoASH (v

NAD (v NADH ¢

O] = SVl JLS g 31 35905 JoSgo U JolS (ygamlonsS’ puanne 0 suliadei ATP L5 sluws

v (f YA (Y

ol p‘u\:

YF (Y fY (A

oy o0y 0> & alo> yo plas” ;0 MPF cullad
S 5k ()

g g0 plonil S plaS Alesgds (50, 0gr gk Lo o 93 pl5e PremRNA i

ATP &l 5l ealaal | )|}a‘$1.; RNA (v
ATP 3, 5l eolizad LT 51,0 L RNA (F

ATP &S5l 5l eslaul g | el RNA
ATP 5, 5 ssbicesl 10 11 §m s RNA (1

SOW DL PRESTRIEI I JPIAY NIRRT es

=2 #3095 (¥

5 3550 ()

forum.konkur.in

Al

-YA

-Y4

-M

~-AY

_AY

~A¥

-AD

~A¥

-AY

~AA

A4

9.



www.konkur.in

1 axico 926A (18+4 ) oS = Fdls ondigm

Camsl Ll 3oy Soplaf (bl (g yaiSgime 33 —4)

AGG (¥ AUA (\
CGA (¥ UGA (v

.............. PRV P IR TR Roove P [N FRFp 3 P DUPRRRRIRSY 1% K9 TIPOU- [\ FRRY X DRRE P11 JOUCT 2 P S-SR | ¢
(Cawly & o 51 .09 0 ol
Totipotency-zygotic embryo (¥ Totipotency-Somatic embryo (\
Differentiation-zygotic embryo (f Differentiation-somatic embryo (¥

falof (o0 4 b e icliao digai & AT

bl (F gl (F bl wabiss ()
foamsl pluS adg pai 00k (slo JgSes by g5 -AF

solw u..a.ia (f oolu (glailgnul (Y ool o el (Y e oo ()
Cal S assne 0 cyabas uac yusd Sy suiiling 4Y (525 -0

P gl (F al aas (¥ Ola Joko (¥ Oedes ()
fommz ylas50 y0 «Kinetoplast»  -4#

slaza DNA (Y $ a5 gmee U 49,0 58 051,20 DNA (A

S350 o loass 4V (F sl Sow (7
sl 515595 3 3ai (s ol ol i 91, 50 DNA plas -AY

Wi (f L (v L& (Y Okl ()
ol plas (55593 als 50) Lawileg )5 @ Jgi99,5e Jlail oo p0 5 poie glapuiigy -AA

ey g els (F ey g 5T ()

R g gy (F ol g Gl (V
Pl o188 AL sl 3T 5 5Uliund 5 35908 o3l —44

gl 4l glas (Y $ 5 e S glas ()

pllasdly (21> o (¥ S gaa o7y sls (¥
€310 g pidiens SIS pajam s ¢ 3> 30 Jlail o b TIRNA glgil 51 Suplas Yoo

\#S (F YAS (Y YAS (Y s (A
ozt 3 I o

ol plyy (ME=TF) s p)f wiz L (C=0Y) )5 05T 0 gl jleds )0

VY (F Y (F # (Y Y ()
OV [SCT-SARIRE 2% PURT DSV PR QRN |

Sl Sl 9 5 g0 (F al Smulg S (65 (7 sl Sty W 0390 (Y ool Szl ()
Sl plas o] )0 OH™ e jVeo cdalé (b 1) Jolxe pH 81 VoY

Voo (F ot (v o' (r R

forum.konkur.in



www.konkur.in

VY axdo 926A (1042 ) W e b oniigu
Tl i S i plaS )W a0 SO Jolomo 50wl HJLiS —)eF
3 IS g (F Jyyedl8 (7 EALEY Jyi
Fom! plaS calogs o vl &y Kod CALE Coand 1l g 3o aun! DK 5 ilen a9 90 80 oG pH 51 V00
\ do
(¥ =%
Voo \
\ Yoo
— (¥ ¥
do \
O el é;,: ! 7 gl el o YY é;,’ RS TR é;,f a2y T/F slhlo el yg0, 98 —\oF
Tl Jgo p2 o5 doxr ad guadl (J9S g0
aFde ()
LFY (Y
Yo, 7 (Y
Yo AN (F
Sl 3290 0/ 0YAL & 5y Jgo 0/ 0 FD GBI YT (2y8 10 A i ClilS  prlaonds ATy S 50 )Y
! plas .mol.L”".min™" i g S 1y Gl gt AT 0 gt
—Y,Atx1oTT ()
YAXYT (Y
I AR
—5.8xVe " (F
sl p3Y 1 51 )5 (oo Wiz S g 0 ks Vg0 0 008 Jolone YoomL dgd sl -VA
(NaOH =fog.mol-‘)
fo ()
Yo (Y
Yo (¥
\o (F
Tl ud b 90 5 U0 093 slacaS i Aon )0 ol o0ld il Sas b jais plas -1e4
YY (f Yo (F vE (Y ¥s ()
HE ) B dgi (sl 19eb o0iiual (5395008 U et (511 gl S 515 3,000 b rimngl] 518 STy 31 81 0N

(Al =yvg.mol ™ .cusl YOL _folol bl 30 1) Jeo po) Sial p3¥ paisogll p,5 ai 159 0
&F (A
YF (Y
Y8 (r
¥ (F

forum.konkur.in



www.konkur.in

VWY axao 926A (1042 ) W e b oniigu

T Cansl Kol gl LS SIS a3 alaS  —11)

S5 ol g ez jaanl g S5 Lop ) 5l bglsus G (Y

w55 ol oSz saspl s S5 D pyb bglia S (Y

Ol glaF cly g 03 0,8 LS o pegnl 5l byl S (F
ST go sy a7 IS IS & pplna 3o Hy U 35508 oot 155 MY

Sl S0, 15I5 (F )55 (T g yg (¥ 3#5YE ()
il 4zl S g R (o yog 32! ilgi g onaS 3 plaS” —1IY

CH,
CH—C—OH (¥ CH, -CH=CH-CH, (\
CH,
CH, CH,
Br—C—COOH (¥ cl —CI‘— H v
H H

s | digy (§9L 4 St Jol> (J9SUga 5 Sl i 5l SuplaS b Jgl £95 sl S 51 -NF

tewl (-N=C-)

la JSUI (Y Laasall (A

la L (F IV PRV
3,18 93018 Slgo 3l aiws plas o lwlid (1 0,8 il STy -110

laasal (Y L y2olgs ()

Sl 31,5 ot (F Jol g5 sl IS (F
S\l sl gl J9Sge 31 atd IS (51510 sgusl gl S5 b (3 yoated STy 51 ol (55 Jpuame —1VF

gel 39 (Y Geaal 035 ()

oS5 S (F JesSsS 03,5 (¥
Tl oo Cawda o0k plas (pgd g9 ISJI ygumnlanst 51 VY

sl (Y S5 1,5 ()

o (F 9 il (F
Ol yidns oy 3aanS &1 e )8 LS S0 o J9SIge pluS 30 V1A

Jeiea (¥ Jsibi! (1

asalleu! (F Sl dd! (T

forum.konkur.in



www.konkur.in

V¥ axio 926A (1042 ) W e b oniigu
19,05 3923 o luonid 09, plaS 05 Jege po -1V
-O\%O
C
| 2
CHy sl ()
| Jona (¥
TH \;,__.'\ (r
|
H- C- OH
|
CHy-C-CHy
|
CHyOH
¢! ual.a.’ p,}g_' Slass a> GS')L’ 25 J,SJ,.o -\Y-
CH,OH
| % (1
C=—=
I \Y (Y
HO—(l:— H Y (¥
f
H—T—OH A
H—T—OH
H—C—O0OH
CH,OH

forum.konkur.in



www.konkur.in

\0 axao 926A (101 ) W e b onligm

forum.konkur.in



www.konkur.in

VP axao 926A (101 ) W e b onligm

forum.konkur.in





